o(pp — H X)L, [ub]

Ratio to LHCB

=
D
o

=
N
o

100

80

60

40

0.5

7000 GeV pp
I T

b
mil | S L L L I I B N I B I I B I
— N(b-jet) (with LEP fragmentation fractions) -
| m  LHCB ]
— —&— Pythia 8.183 default —
8- Pythia 8.183 tune-4cx 7
| . -
- B _
n P N B | P N B | P N B | P N B I
:l T T T T | T T T T | T T T T | T T T T |:
.......................................................................... W._

I T T T I R T T I R T T I R T T l

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


